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16U/103/15(i)

No. of Questions : 170

w1 wEmw - 170
Time : 2 Hours | [ Full Marks : 450
g 1 g ] | qonE: 450
Instruction :
fardar :

This paper consists of Objective Type Questions and is divided into

Two Sections (I & IT) as under -

T8 WA T vt oy amnfn & oo 2 e (1 =0 1D ¥ faqam & e f

-8 oft & -

(a) Section-I : Consists of 130 Ubjective Type Questions on General Awareness,
Current Affairs, Common Legal Knowledge, Aptitude and Mena] Ability
gue-l : # 130 TEhweiin v wwee T, TS R .
s gl aEfEw e o amafiy 5

(b) Section-I : Consists of 20 Objective T '
ype Questions on (1) English
and (IT) Hindi Language. g S

ue-11 : % 20 '
s igﬁmam{umﬂ'eﬂwmﬁflﬂ%ﬁ"ﬂm#*mwmﬁa

A candidate is required g attempt as many questions 4.
Section-I, and questions of ANY ONE of the TWO s ho/she can of

La
OR (II) Hindi in Section.[|_ “g'uaggp apers () English
wal @ el ¥ Y gve mp ween @ o o
(I} arrafy
SRS v 7 T Wﬂ;};@ﬁwﬂw
Note: (1) Answer as many questions as you can. Bcp questj,
n

mark will be dedueted for each incoect ansivey “Tles 3 Marks. Oy
awarded for each wnattempted question: | <ery Mark Wil L—:

(1)

P.T. 0,



(2)

(3

1.

3

AferTid weEl B8R o W uge S| v e 3 oo w0 &) vl e
gw @ Em oo de Fre S| v el v e weie e s

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

uft rels fohas wor af o @ Fiee w8 @ Meom 78 IR 1)

Each question is followed by four alternative answers (1), €2}, (3) and (4). Only
ane of these answers is correct. Select the correct answer and record it against
the relevant question by darkening the circle with Ball Point Pen in the Answer
Sheet, as per the guidelines. '
e e @ u AR s a8 B (1), @), (3) 7 (@) W § T
T B F 0 dad ﬁﬁﬁ?ﬂﬁrﬁlﬂﬂmzﬁrmaﬁmmmﬁﬁﬁ
H Teram § gl pE A e e ofha go (o) @ aE |Eee
99 B WIS weh S

SECTION - |
org ~ |
National Voter's dav 15 on
(1) 25th january (2) 26th January
i3) Zoth November (4) 24th Decemnber
(1) 2578 (2) 26 Fail
(3y 2o AT (4) 24 Fremm
i st Guard has inducted a high-speed patrolling ship -
I::d!;n E;z;p (2) Amogh (3} Vistar (4) Gagan
Mﬁﬁmqwmﬁﬁﬂﬁimﬁm%ﬁmé'
o i @) i () PR @) W
f gravitation was propounded by ¢
The univers?" we .Ea_] Copernicus  {3) Newton (4) Kapler
(1) Galileo Feygra @ R fey 2 -
o & 3 (2 i (3) g # (4) %%
0 5 Active Coernance and Timely Imptementation) program is :

\schanism  (2) Social Audit mechanism

m c‘.nevanf;mwﬂ arganation (4] None of the above

(3) WhEﬂE (2)



wfa (o ofdew T vve el feeTE) O #

(1) =T ¥ e o4 (2) WIS HeeT o

(3) eaFTEE T (4) Tudr 4 | Fi2 Tl
Which of the following type of mirror is used in the head lamps of cars ?
(1} Spherical convex mirror {2) Spherical concave mirror
(3) Parabolic concave mirror {(4) Plane mirror

Frevferfam ofor & st & @ @9 = # oy et F g e T &7
(1) "ETHR ey g9 (2) VBT S Y

(3) e ST &V (4) T 2

Who won Raman Magsaysay Award 20157
(1} Sanjiv Chaturvedi & Anshu Gupta (2) Ashok Khemka

(3] Neleema Mishra (4) Harsh Nanda and Deep Joshi
T AT qRERR 2015 fRE o ?

(1) weirg B 7 afy T (2) arE wwa

(3) Feirm fsn (4) = 21 7 f v

Which State hosted 35th National Games ?

(1) Haryana (2} Karnataka (3) Goa (4) Kerala
Hﬁ?@mﬁﬁﬁmmﬂﬁaﬂﬂ’rﬁﬂ'ﬂﬁﬂ?

(1) #Ramm (2) wtes (3) 7 (4) v

- Which country is set to host 2022 Winter Olympics ?

(1) Beij (2) Tokyo 3} South Korea - -
lﬂEE?ﬂﬂﬁ;flf‘l’F‘l Fefm @ aLﬁm:r figs ;Er}ﬁ g7 L BHRS i
(1) tforer (2) ey (3) =i Hfy ) Rt T
. Who was choosen for Dada Saheb Phalke Awards 205 7
(1) Gulzar (2] Pran
(3) Saumitra Chatlerjee (4) Shashi Kapq,
T I PN [REBR 2015 3 farg Bl g a4 2
(1) TerEm (2) o
(3) wifim et (4) ¥ F

(3)
PTo.



10.

1t

12.

14,

14

15.

Find out missing number ;
VIR FE T

! 13 49
E 17 | &9 |
[ 13 11 )
(1) 5 (2) 9 {3) 10 (4) 21
Dotomite is an ore of which of the following ?
(1) Lead (2] Iron (3) Manganese (4) Zinc
Eamse et 4 @ frae oo & 7
(1) = (2) e (3) s (4) For

If 20 - 10 means 200, 8 = 4 means 12, 6 * 2 means 4, then 100 = 10 * 1000 -~ 10
+ 100 % 10 =7

{1y o (2] 20 (3) 1090 {(4) 1900

R 20 - 10 W 200, 8 + 4 WA 12, 6 = 2 W 4, @100 - 10 = 1000 = 1000
+ 100 = 10=17

(1) 0 (2) 20 (3) 1090 (4) 1900

In the numbers from 100 to 1000, how many fimes digit 1 comes at the ten’s
lace ?

?1} 9 (2) 10 (3) 90 m? 900

00T 1000 # e & WEm 1580 & YA W e aw e

{1) 9 (2) 10 (3) 90 {4) 900

Peicillin’ the widely used antibiotic is produced by :

artietl 5 (2) Analgae
(1) Synthetic et (4) A bacterium

{E'JﬂfufllE'U-‘" ﬂm&mmﬁﬁwmﬁmﬁﬁﬂﬁmmi

Afafei

A b B (2) T T
(1) 4) vE dEERa |
(3) Qﬁm"ﬁﬁﬂ ¢

~om 1 1o 45 which are exactly divisible by 3 are arranged in

" lhednumlgf;rl ST T T number bEll'lE on th':'l JEF’ which would come al the
ascending OILE
n!I\th F‘iace ﬁ"l'."‘ t F

mﬁ[tﬁﬂ ' m 1 (3) 24 (4) 27



Directions : (Question Nos. 16 - 18) : Study the follmwing five numbers and answer the
questions given below ;

e

: (e do 16-18) - AT ofe woms! s @ v T vl & ooy & -

517 325 639 B41 792

16. What will be the first digit of the second highest number after the positions of

17.

18.

19.

only the second and the third digits within each number are interchanged ?
AAE HE I dEd g @ el W @ wWE amaw d 950 @ W e
Fw HeE W uEe He @ enfl 7

(1) 2 i2) 7 (3) 8 (4) 9

What will be the last digil of the third number from top when they are arranged

in descending order after reversing the positions of the digits within each
number 7

VT W @ siEe wernl @ fufl @ ow o @ gwe Of? o ved e @
@ @At & A e Wen @ s e gnft ?
(1) 2 (2) 3 (3) 5 (4) 7

What will be the middle digit of the second lowest number after the positions
of only the first and the second digits within each number are interchar, ged ?

Sl Hemtt # sen W B wem 7 Rl dem @ e A wed 3 g
fadha = Wem ® mg wey @ gt ?
(1) 2 {2) 3 (3) 5 (4) 7

Ignorance of law is :
(1) motan excuse in Indian Law
(2) is an excuse in Indian Law

(3) no such legal principle is followed in Indian Law
(4) partly an excuse in Indian Law

fafer & s

(1) sl R oA e e (R g o @
f:}mﬁmﬁﬁaaammm{qﬁgg}g

(3) e freh it frgre @ ety Rfy 4 orem = B ¢
(4) e R A s A (ol dy) ¢

“Ihid'i 15 the ﬁfﬁt mE’ta.I IJH-E'd b}' man ?

(1) Copper (2) Silver 3) B
D el @,
(1) @ @ = (3) B U

(5)
g



21,

22,

24,

25.

Which of the following helps in determining the age of a tree ?

(1) its height (2) itediameter  (3) its sap (4) its rings
T 98 W 95 %1 P o i Prefafae § e e @2

(1) 39 Sad (7)) gam =9 (3) sU@ aFENE  (4) gHA T

Which of the following is not regarded as the contribution of the Mauryan
Period in the hjsmr}r of India ?

(1) A system of slatecraft

{2) Artificial Caves

(3) Unification of the continent under a single government

(4) Earliest stone sculpture

Fresffar 7 @ fre v sfiem 3 ol g @ diee 78T A W 8
(1) Tog-Hared & g

2 ml?'l%lﬁ THT

E?:J} WEEY ﬁqgﬁm & T

(4) srefirers wrarer SferT

Which of the following is related to ‘Bijak’ 7 |

{ ljuﬂavjdas (2) Kabir {3) Surdas (4) Tulsidas

A § W A A & g £ 7

(1) whawr (2) #" (3} AT (4) TFHE
1y of the following cities was not founded by Firoz Shah?

Er;u;aihabad (2) Fatehpur Sikri (3) Jaunpur (4) Hissar

ﬁqﬁrﬁyﬁmﬂﬁﬁﬁﬁﬁﬁ?ﬁﬂmﬂmﬂﬁmm?

i) rETa (2) H-TEIEEE ww (3) afrTYe (4) fewm

The number of Judges in the Supreme Court at present is:
c

75 judges ,
EEJ} If.'!] udg® including the Chief Justice of India
"'ﬁj of nstice of India and 20 other Judges
(3 Cht. yetice Of India and 16 other Judges

) e e % e 9 ¥ & 7
T

(1) 7 o Tea 26 i

r.l -;Emwm'lﬂ e Fﬂlﬂﬁjm

dﬁg‘ s 3l 16 3 s
@ (6)



26. Who presides over the joint session of the two Houses of Indian Parliament 7

3

(1) Deputy Chairman of Rajya Sabha (2} President

(3) Vice-President (4) Speaker of Lok Sabha
W T & A w9 iy dow O snme @ T £ 7
(1) Vg & STl {2) wrzafiy

(3) Su-vregafy (4) T @ waw
Which among, the fU“'E'W"l“g 15 India's |&IgESI Tiger resarve 7

(1) Periyar {2} Kanha (3) Bandipur {4) Gir
ﬁﬂﬁ%aﬁﬂ-ﬂﬁrwmmﬁwwwﬁmﬁ%?

(1) 4RaR (2) =T (3) arigy (4) fire
Right to vote in India is based on the principle of :

(1) restricted franchise (2) hereditary privilege
(3) universal adult franchise (4) proprietary qualifications
ue ¥ HE 2w aew e frerm oy oy & 2

(1) PP mier (2) g Frmfre

(3) " e FafiEr (4) wrfis

Wha of the following was the Chairman of the Boundary Commission which
divided Punjab and Bengal 7

(1) Lord Mountbatten (2) Sir Cyril Radcliffe

(3) Sir Stafford Cripps (4) Lord P. Lawrence
ﬁﬁﬁhﬁﬂﬁﬁﬁﬂﬂﬂﬂ%ﬂﬁlﬂﬁﬁﬁﬁﬁhmmmﬁam

Once appointed, judges of Supreme Court serve till they attain the ageof :

?Wmﬁmmmﬁmﬁmﬂmimmm#m
a

(1) &2 {2) 83 (3) 64 4} &5

Quit India Resolution’ was passed at which of the
India Congress Committee Seagiyy, -

(1) Rawalpindi- (1) Karach (3) Bombay

following places of the 4]

) Cﬂkutla

)
PTo.
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36,

Frefaftr et 4 B FRw W w g At andi whe o @ sfaeE |
WA BIE W Wi fewy e !

(1) ¥refoes (2) wrdl (3y T=rd (4) e

Who of the following was the President of the Congress Party at the time of
mdependence ?

(1) Sarcjini Naidu (2) Subhas Chandra Bose
(3) . B. Kripalani (4) J. L. Nehru
cxete it o e P & 4 FF S O 9T S ?
(1) Eofa ATy (2) qam wE 4W

(3) @o fle FUAT (4) o Tra TEE

VWho of the following was the Viceroy of India when King George V visited
frvcdia ?

(1) Lord Rapon (23 Lord Hastings (3} Lord Curzon  (4) Lord Harding
(A b e B A A & T Preeta # 9 T R 6 e 9 ?

1y == R (@) @@ By (3) Al e (4) 1 wfEn
Which of the following is biggest ?

{1y Arciic circle () Equator

i3y Tropic of Cancer (4 Tropic of Capricorn

Farifaiton & @ 1 8 § 7

(1) arfem wi (2} T 1

() ¢ifts i FH (1) i @ S

Which of the following is the most important crop of the lemperate grasslands ?
(1) Sugarcane (2) Date (3) Cereals (4} Citrus fruit
s TTEETEE FreifiRan & & w T e e B 7

(1) T (2) W (3) 3 (4) Forga o

wWhich of the following represents ilie boundary between Cermany and Poland ?
(1) 18th parallel 12} Hindenberg line

_ nd line
T mt h.'l"lﬂ' ‘4} [}Jra
(3) Ma%iﬁ%ﬁmﬁwmiﬁhm1mgﬁﬁrmm?ﬂﬁ?

'ﬁT"ﬂﬁT NN (2) fEgmat w
(1) 18 (4) =5 W@

(8)



ar.

38.

39.

41.

42,

Ancient treatise on law :

(1) Vedas (2) Upanishads (3} Smoritis (4) Shrutis
[afe # qeras wfte 2

(1) % (2) Tt (3) wfa (4) Hf
Who is associated with drafting of the Indian Penal Code ?

(1} Lord Macaulay (2] Sir Frederic Pollock

(3) Mulla {4) Sir H. 5. Maine

HIRHR ZUg WiedT % gre @ wer gw & 7

1) @ie Ao (2) W wEfie dtes

(3) Hoew (4) = gm0 e A9

The father of International Law is

(1) Plato (2} Aristotle [3) Grotius {1} Derning
(1) == (2) aww] (3) mfemm (4) sFm
To be eligible for election as President, a candidate must be -

{1) 25 vears of age 2} 30 years of A

13) 35 years of age (4} 40 yearsof age
WﬁﬁmTMEHMmeWm%mmmm;

(1) 25 &4 %I =@ =1 (2) 30 T 9 Tw

(3) 35 @ # 33 @ 4) 40 7 @ 3B &

Who among the fulinwing wrote the book on Indira Gandhi's election case
namely "The Case that Shook India” ?

{1} H. M. Seervai (2) Raj Narain

(3 F.S Nariman (4) Prashant Bhushan

ghent il @ g A @ i g R dy g 9P e B § 7 frmd
fermt 2

(1) 9o THo ftmard (2) AT AR

(3) TFe THo T (4) ST

By which Arlicle of the Constitytion the LRtouchyhi
practice has been made punishable 7

Hmmmﬁmmwmmmﬁm$ﬁm@m
w7 mmﬁmw

(1) 15 (2) 16 (3) 15(4)
(9)

lity is abolished ang its

(4) 17

PTo.
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44,

45,

48.

47.

48.

Who among the following is known as the chief legal advisor to the
government of India ?

{1} Chief Justice of India (2) Attorney General of India

{3) Solicitor General of India (4) Secretary, Ministry of Law
ﬁ!ﬁﬁﬁﬂﬁ#ﬁﬁﬁqmﬁquzﬁgﬂmﬁﬁmwﬁmﬁﬂmﬁ?
(1) wWrd &7 R e (2) WNT W HEFTErE]

(3) A | Tty Td (4) i, Ry ==

Inddia’s first court-annexed mediation cenire, was established in 7

(1} Delni (2} Tamil Nadu  (3) Kerala (4) Karanataka
qNE & e o we mE e el i g ¢

(1) B (2) ey 1 (4) wATCE

Mist is a result of which one of the following
(1) Condensation (2) Evaporation (3) Sublimation {4} Saturation

airea baer # A Ry aftoms & 7

(1) EATEIM (2} drafieEe (3) e (4) wIfeHT
Who among the following was the Chairman of Bar Coundl of India during
Fmergency (19737

(1) Fali5. Mariman (2} Shanti Bhushan

(3} Ram Jethmalani (4} Justice P. M. Bhagwati

s (1975) & S Wi i qRYe 1 s P A W B o

(1) wel THo A (2) A=A

(3} W e (4) ==d fo U0 FTEH)

i which of the following states land reform failed to take off ?

(1) Punjab (2) TamilMNadu (3} Haryana (4) M.
Frfafign ot 4 # ﬁhﬂﬁ‘jﬁii}maﬁﬂﬁ?mnﬂﬂ:rﬁﬁﬂﬁ?

(1) e (2) ST (3) =R (4) ™ g

ulation of the speafic accusalion made against a person who is
e nature at the earliest stage is called :
2) Charge (3) Charge Sheet (4] Police Report

The precise form
entitled 10 know

ﬁ#;!;mwﬁﬁﬁmmmmmwmmﬂmﬁﬁﬁ
&, WEER § o

, i 8 5 J ad e (4) aftrm feeivd

(1) 7

(10)



51.

53.

A person who has suffered any loss or injuiry caused by reason of the act or
omission for which the accused person has been charged, is called ?

{1} complainant (2) injured

(3) de-facto-complainant (4) victim

el e oo @i & e fiedt anfae o wifY s v wTa B & e
Sga @t B it B g 2 92wt e E

(1) aftamh (2) aifes

(3) &[T wieard (4) ffgn

The first Anti-terror legislation in India was -

(1) POTA (2) TADA

(3) FERA (4) NIA Act

FEas @ e v fvmrs o -

111_} 'ﬂ":“ 1'31’]'1:- LF:!D‘ T {2} Eﬁq o ﬁq q-:.

(3) ™o fo Mo To (4) 0 sMde vo TR

No person shall engage in smoking in a public place. This rule has been notified
and came in effect on :

(1) 2 October, 2006 (2} 2 October, 2007

(3} 2 October, 2003 (4) 2 October, 2009

TE T WEAE W 02 qwar wf wom) g e e FRfe M g g
o g3 ?

(1) 2 3@ar, 2006 (2) 2 e, 2007
(3) 2 3FErER, 2008 (4) 2 e, 20

Which of the following judges was appointed to the Supreme Court of India on
day of Golden Jubilee of supreme Courtof India - Ja nuary 28 Xy} ?
(1) Justice Y. K. Sabarwal (2} Tustice Ruma Pal

(3) Justice Saghir Ahmed {4) Both (1) and 2
ﬁ:rﬁﬁaﬂﬂ-wmmﬁﬁmmﬁaﬁmmﬂﬁfﬁﬁﬂ ol T 29
2000 ¥ P e w1 S fga B 2 ’
{1) =Ry 9o do wEvaw (2] = s g

(3) =R W e (4) (1) ¥d (2) aF0

Who of the following was the
(1) Lord Mountbatten

(3) Chakrawarti Rajagopatachar;

rst British Governor Genera) of Indiz
(2} Warren Hasti Nis
4) Lord Macauley

f 1]



57.

58.

frr=fafam & @ @9 w1 Aem ffew Tk wwa W 7
(1) w1E Araveden (2) T B
(3) wTd] e (4) w2 F=ra

In which of the following years Pokharan Tesl conducted ?
Prefarfir aut # o Frm e ofien wefe gan wn ?

(1) 1970 (1) 1974 (3) 1978 (4) 1982

Supreme Court of India has passed a resolution requiring the justices of the
Supreme Court ko report their assets to the Chief Justice in :
mﬁmwﬁﬁmwﬁﬂﬂwﬁﬂﬁrﬂwﬂﬁﬁmﬂ

Wﬁﬂﬁﬁﬁrégmmwﬁﬂﬁmﬁﬁaﬁﬁaﬁﬂmﬁmﬁﬁﬂﬁ?

1y 1997 (2) 199 (3) 199 (4) 1990
Which of the following is ot an organ of the UNO 7

(1) General Assembly (2) Security Council

13) WTO (4) Economic and Social Council
Frfafiag # & &9 %o Tio 3o @1 ues 7818 7

{1} =ETnT (2 e ufiae

(3) Fage e 3o (4) wifffE Td A TREg
Rio Summit (1992) relates to which of the following subjects ?

(1) Atomic Energy (1) High Seas

(3] Environment {4) Earthquake

feat wfie Frmerttan § & freey wefa 8 7

(1) e S (2) T W

(3) waiE (4) o=

The Covenant of Econormic. Social and Cultural Rights was enacted in :
aﬁﬁ,wﬁﬂimﬁwﬁfﬁmﬁﬂﬁmﬁmﬁmaﬁﬁﬂhﬁmﬁﬂﬁ?
(1) 1966 {2) 1976 (3) 1986 (4) 1992

i ; ] : ed in;
‘Fundamental Rights resolution was adopted in _
(1} Karachi Cession (2) Tripura Session

dras Session (4) Nagpur Session
f_:'i hhﬁr% = g e @ wEE aif¥e gsn

g 2) o 3
u}ﬂﬁﬁﬂﬂ_ﬂ {
@) T T LR A

{12}



61.

B3,

World Intellectual Property Day is observed annually on :

(1) April 26 (2) May 26 {3) February 26  (4) March 26
e 3 fva difgw v feas fovm a9 o £ 7

(1) 263 (2) 26 (3) 26 wead (4) 2694
The primary source of Muslim law is :

{1} Quran {(2) Hades (3) Ijma (4) Khiyas
Hitem RAR &1 wwh o g # 7

(1) 7= (2) wd (3) dwm (4) Rama

The language of the Supreme Court is :

(1) Hindi (2) Language of the parties
(3) Any language in the 8th Schedule (4) English

TEOH e S AT &

(1) ’B=h (2) mewl & W

(3) = s Y v (4) soh

Imprisonment means :

(1) Simple impriscnment (2) Rigorous imprisonment

(3) Simple or Rigorous imprisonment  (4) Delention

TG o e §

(1) FmmW wwEE (2) FER FREW

(3) WENRY WuE wER SR (4) Fmr (fad=m)

The first Lok Adalat was held at -

{1} New Delhi (2) Jaipur {3) Cochin 4) Cl '
TEH! S JATERT Wt 7 e
(1) 7 R (2) sty (3) i (4) A=

Which of the Fl'.*“n‘lhrl'ng = mot a Writ issued b:,r the S‘UPI‘E'I'I'E'E Court ?

(1} Mandamus  (2) Quowarranto (3) Habeas corpus (4
ﬁﬁ##ﬂ?ﬁﬂwmﬂﬁhmmtﬁl ® Swomotg

(1) vmew (2) wfowr gmm (3) %8 weehaer (4) " 3

In a bailable offence, the bail is Erented as a matter of right -
(1} By the police officer and theagyry {2} By the court
(3) By the police officer (4) Either (1) ar (3)
(13)
AT0



68.

70.

1.

T2

FEFET e § WA MR Wy fRes g S o Adar § 7
) af sl w8 wres g (2} ~raeTs B
(3) gfere afftmd g (4) 7w & (1) 3 (2)

After jndgpﬂ-ndﬂ][ﬂ the first woman sentenced 1o death h}l' the Madras
Sessions Court was :

(1] Nanawati 2y Mirmala {3) Monica Bedi (4) Phoolan Devi
T & @1 WETE HE sararem g fea afen ot wéwem gepEre fEn am en 7
(1) =t (2) Fem (3) =t 49 (4) e A

For the application of Section 149 of IPC, there must be at least :

(1} Three persons (2} Four persons

{3} Five persons (4) More than five persons

b =ve W @GR 149 @ S & B fhe o A @9 e afRr @
ST B # P

(1} = b (2) TR @
(3) 9 =i (4) e enfwrl & v
Law excuses acts done under influence of intoxicalion, the intoxicahon :
(1) must be high (2} must be voluntary
(3) must be involuntary (4) Both (1) & (2] above
ﬁﬁrﬁﬁfmﬁrﬁﬁqﬁﬁmﬁﬁmma,ﬁamWﬁﬁ wa
() I =i g Ry (z) wifems 0 WY
(3) amafid gA1 AIEy (4) I (1) 3t (2) =

' bsists for :
Eﬁpgélm (2} 60 years (3) 70 years (4) 8O years
Py e T @ fo B & ? .
(1) 50 a (2) 60 T4 (3 70 94 (4) 80 9

i i i i . 1o of the Constitution of India 7
Civil Code isenvisaged in w‘_nu:h Article o :
gﬂwﬁﬁ]ﬁﬁ%mwwwﬁMWWzﬁﬁﬁm#Mmi?
(1) 42 (2) 43 (3) 44 (4) 45

i wiully damaging or destroying property by fire is @]Fd £
A e c{;:ﬂa E’rl] Atfray (3} Arson _ (4) Rioting
“;;;fﬁﬂ%ﬂmﬁﬁmmaﬂmu@mmwwﬁmmw
3

(2) =m (3) & T )

&
) (14)



73,

74

75,

76,

An order of a Court pronounced on the hearing of a suit is called :

(1) Dehor (2} Degree (3) Decree (4) Deed

ST B YA P T9 YA T ARy SR £

(1) R (2) (3) S @) &

Mens rea is ;

(I) guiltymind (2) intention (3) evil (4) unlawhul act
Mens rea (amoeiers w=-fefy) & amorg &

(1) et wfeqes  (2) g (3) TR (4) TeeETT BT

The two underlying concepts of Administrative Law are -
(1) Separation of Power only

(2) Rule of Law and Separation of Power

{3) Itis only one Rule of Law

(4) Delegated Legislation

el S S —

(1) ae wider &1 Jergmo

(2) RF = W @ afm W YRR

(3] 78 wa= TF Pfrs s &

(4) = fams

Who among the following is the guardian of the public purse ?
{1} Parliament

(2) Public Accounts Commitiee

(3) President

(4) Comptroller and Auditor-Ganeral

Fre d & &1 a5 s 2 7

(1) wEe

(2) ¥ 7@ Tad

(3) ey

(4) FOEIER W diifees wem

A Writ by Court, to some person or body 1o compel
duty is: PE 0 perform Some public
(1) Quo Warranto (2) Habes Corpys
(3) Mandamus {4) Proibition
115)



19.

80.

81,

82, A woman wh

snrEn oo ar Beoairen e smem fad ol s ween &
HiEm ity Paey e & B9 ans e 8 wEETen B

(1) <FFR g (21 w1 gieilET
(3] wHATEY (4] WISR

The mistaken decision of a courl :

(1Y Porincuriam {2) Per curiam

(3) Per intortunium (4) Peppercomn

=TTera g O faar v [

(1) ™ M (Per ineuriam) {2) W FEEA (Per curniam}

(3) 9 gFEIEATH (Por inlortuniumy) (4) Sh HE (Pepper corn)

Law ol contract 152

{1} Publiclaw {2y Private Law
(3} International Law (4) Conflict of Laws
wft fafg &
11y 7 (2} A s
{3y st R (4) fred faum @8
The largest coal reserves of India are fovnd in
P A hlsparh (21 Jharkhand
(3] Madhya Pracesh (4) Odisha
R o e = B At L D R L
(1) s ) | SIREYTS
(3) W FEW &
i s il of cused lies upon the :
4 Tawr thie burden of proving the guill of an accust RaB
In ‘-T"'v""mll‘.“: e h{'::E '.E'Ih.-le-:m i (3 Prosecution (3) E;ﬂ wilnesses
(1) Complail = & frm w1 T B OR B R 7
F HPrgaE W A9 T =
s AR Jﬂ”"l ot i @) afiet m (4) weueE T

(1)

o institules an d carries on P“,Eaed:i:ﬂj:;‘:'- in a Criminal Court of law

i called iy @ Prostitution (3} Fallen " ) Ptlwcuh‘-r a
1) Prosect i AT A T i N & AR AN B, FEenh €
g E EL 2 (3) W 4) ararae

(16)



83. Civil Procedure Code relates to -

(1) Legislative Procedure (2} Civil Court Procedure
{3} Revenue Matters {4} Only Supreme Court Matters
e wfv wfem fres smm & 7

(1) fenfrr wftem (2) fafra w1 wfsm

(3) T wEe (4) Tod F= ATEG & AW

84. The Bhoodan Movement accepted volunta ry donations of land for the purpose
of :

(1) distributing it among the Harijans  (2) distributing it among the landless
[3) setting up co-Operative f rming {4) setting up of collective farms

TSI W W e A g o S R w @ R g e

(V) et 4 faeem & fom (2) sifivdiet & faemor @ fog
(3) wEdERe & @ By (4) wrffae wdft # faa

B5. The Indian Space Research Organisation is at :
{1) Bangaluru (2) Thumba
13} Thrivananthpuram (4) SriHarikota
HIRET ST ST WeeTs e R 7
(1) e (2) g
(3) Ferma=rages (4) # gftem

86. MName of a device that changes a electrical energy 1o kinetic Energy :
{1} Electric motor (2} Lantern
(3) Davislamp (4) Electric bulb
wmmmmm%mﬁmmﬁwg 5
(1) Rl ot shes (2) s
(3) W du (4) foorfl @ we

87. Whose consent is uired f 1 Bill ¢ ] _
ﬁbﬁemt}l}f'—" g or a M Oney 0 be lnt'-'ﬂdllff‘ﬂ n a -.qi':l:l:e
(1) Gowvernor (2} Speaker
(3) Chief Minister (4) Finance Mi"i"te‘fﬂfﬂtaﬁ
Wfﬁmﬁﬂﬁﬂqﬁmmﬁﬁmﬁﬂwﬁﬁmﬁmﬁmﬁmg}
(1) IS (2) faarTa sreag

1
) PT.0.



88. Which one of the following is a bulwark of personal freedom ?

H9.

a1.

i1) Mandamus {2) Habeas Corpus
(3) Quo Warranto (4) Certiorari

Frer 4 9 3 =iffe = & 9TFd B 7

(1) 9eHTE™ (2) W41 HEAETE
(3) FRFW TE (4) TR

Election Uommission isa |

(1) Constitutional body

(2) Political body

13) Quasi-judicial and quasi-political bedy
14} ludicial body

TG ST &

(1} wenfae Hwm

(2) Tl e

(3] sf=nfrs e sadRreEls e

(4) = T

The power to direct, control the elections to the Panchayat is vested in :

(1) State Election Commission

() Election Commiission at the Centre

(3) Delimitation Commission at State Level
(4) Governor
m%wmwﬁﬂm@ﬁﬁwﬁaﬁmﬁrﬂ%w%?

The essential ingredients of a crime are :
(1) motive, mens rea and actus rens

lil] motive, ntention and knowledge
(3} actus revs and merts TE0

(4) Lnowiedses intention and action

v Y E
ey s TRt 7 s ard

(2) ¥ Ll
) el BT wa almeE ge Rt

(4 Wﬂﬂmﬁmﬁ
(18)



92.

95.

a7.

Of the following, medicine for Typhoid is :

{1} Chloroguin (2} Vitamin A (3) Chloramycetin (4) Sulpha Drugs
Frefdcohvds & B sA-femd 7

(1) e (2) fefmg (3) ToRmEEREE (4) TeE @Y

Fam facing South. [ turn right and walk 20 m. Then I turn right again and walk
10 m. Then [ turn left and walk 10 m and then turning right walk 20 m. Then 1
turn right again and walk 60 m. In which direction am I from the starting
point ?

(1) North (2) North-West (3) East (4) North-East
ﬁtﬁﬂﬁwﬂmﬁgmﬁaiiﬁmﬁﬁqqmmﬂﬁmrmﬁ?ﬁ#
ﬁwqmaﬁ?mﬁrﬂm|m#ﬁwmmﬁmmﬂnmmﬁ=@m

¥R 20 AT 7 | o7 4 aiRd B R o 60 Mew T By weE @ aw e
Rt mm €7

(1) BT (2} sRafem (3) (4) s

It each of the dimensions of 2 reclangle is increased by 200%, the area is
increased by :

Wﬁiﬂ#ﬁmmmﬂﬁzm%mmtﬂmiﬁﬁ q AT & -

(1) 300% (2) 2009 (3} 800% (4) a0

The number missing in the series 2, 5, 10,17, ..., 37, 50,65 ic »
25,10,17, ..., 37,50, 65 1 sjzgey & wireroft weay 7amwe 2 7
(1) 27 (2) 22 (3) 24 (4) 2¢

A, clock seen through a mirror shows 8 o'clock. What is the Correct time 7

wuﬁﬁmﬂﬂaﬁwmmg&nﬁﬂmﬁ.mﬁmmﬁ?

(1) 1220 (2) 4.00 (3) 12.40 (4 800

8 o 2 students, Kung| js placed seventh from the bottom wh
Sonali is placed ninth from the top, Pulkit is placed exzctly i botuiy '|-"I'r1 Ereas
What is Kunal's position from Pulkit ? n the two,

35ﬁmﬁﬁaﬁwmﬁ.wﬂﬂﬁnmﬁmwémﬁ;m
wﬁﬂ?lmﬁmﬁ&mﬂ-glmﬁmﬁw FOV T

(1) @ {2) 10 (3 11



98.

Which of the following numbers should be added to 11158 to make it exactly
divisible by 77 -
fre & @ frm w1 11158 9 oier o wiftd e =g 77 9 o R g a7
{1) ¥ (2) 8 37 (4) 5

Dfn'r_h' ons : In each of the follotwing questions, four Words have been given, out of which thre
are alike in some manner and the fourth one is different. Choose out the odd one :

P : Prefafe sedw wer % AW 9% 24 T 6 B @ ot W B F o F T

dter o= frer &1 R oy @t 947
99. (1) Medium (2} Average (3] Mediocre (4} Tetrible
(1) wem (2) afrea (3) 9 =& & (4) HATTE
100. (1) Gallon (2) Ton (3) Quintal (4) Kilogram
(1) 7 (2) &4 (3) faew (4) FwsrmE
101. (1) Wood (2) Cork (3) Stone (4) Paper
(1) e (2} Wi (3) wer (4) T
102. A number divided by 36 gives 79 as remainder, If the same number 15 divided

103.

104.

108.

by 8, the remainder will be :
wmmraﬂEhﬁﬁmﬁmﬁmﬂmﬂmhwaﬁmﬂaﬁﬁﬂwﬂ

T Wy B
(1) + {2) & (3) o 4) 7

in a certain code, FIRE is written as QHOE and MOVE as ZMWE. Following
the same rule of coding, what should be the code for the word OVER ?
Rt e W A, FIRE #1 QHOE frar wrn & T8 MOVE ®1 ZMWE feran s

hmﬁ#ﬁmﬂi’i.{WEﬂmﬂwwaFm?
(1) MWED (2} MWED (3) MWOE (4) MWZO

in a coding sYstem, PEN is written as NZO and BARK as CTSL. How can we
write PRANK D that coding system ? | _

o g woment 3 FEN #1 NZO foran ar & 0@ BARK @t CTSL fasr @mn &
Gﬁ%ﬁwﬂﬁﬁmhbﬁﬂﬁﬁm@i?

(1) CSTZN (2) NSTOL (3) NTSLO (4) NZTOL

L.CM. of 72,54, {08, 135, 198 is :

n (g, 135, 198 31 Tactftorse £
0 2 198 () 540 (@ Tisse

|20)



106.

107.

108.

108.

110.

111.

112,

113.

If the H.C.F. of two numbers (each greater than 13) be 13 and L.C.M. 273, then
the sum of the numbers will be :
R T e Bl Qhoftolhe (Wellw 13 ¥ wOTeT &) 13 § o Udodiowwo 213 &,

Al 9 et w1 g B
(1) 28& (2) 130 (3) 288 (4) 290

N ranks fifth in a class. S is eighth from the last. If T is sixth after N and just in
the middle of N and 5, then how many students are there in the class ?

W RTAN WAl ofi 2 S aPm A s 21 a9 T N 2 22 w8 ==
W # gE A NS B me & aa e o R Rl £ 7

(1) 23 (2) 24 (3) 25 (4) 26

The smallest number which is divisible by 12, 15, 20 and is a perfect square, is:
T W W 12, 15, 20 % fivirom # ofte b i #
(1) 400 (2) 900 (3} 1600 (4) 3600

The greatest number of 4 digits which is divisible by 12, 18,21, 28 is ;
TR SH] B AT B ey =t 12, 18,21, 28 % fimrog &

(1) 9848 (2) 9864 (3) 9828 (4) 983
Sake era started from -

(1) 8BC (2) 7B AD (3) 300BC (4) 124 AD
T AT wE W O 80 7

(1) 78 = (2) 780 & (3) 3004 =& (4) 1247 &

In a group of cows and hens, the number of le .
g g5 are 14 more than tw
number of heads. The numpber af o e an twice the

;ﬁﬁmgﬁ?ﬂ%wﬁ.ﬁﬁmm%ﬁﬁ@ﬁﬂmﬁumalw
T OB

(1) 5 (2 7 (3) 10 4) 12

Delhi become capital of India ip -

el A &) T B 9 7 &it ?

(1) 1910 A 1911 (3) 1916 (4) 1923

In the year 2004, Najma got Rs, 2305,08 as he

allowance per day was : * ok ﬂﬂﬂwﬂ;&h Her Pocket
(1) Rs 630 (2) Rs.63 (3) Rs.632 [

(1) 6.30 770 (2) 6315m (3) mwﬁ%_z@“ﬁra@
(21) Sovgy

P.To



114. The numbf:r of boys in a class is three times the number of girls. Which one of
’::l:lbe f-r;llnwmg numbers canmoat represent the total number of children in the
a5 7
et wem 4 wewl @ dom wefd @ don @ @w o &) FE A @ wEan
HE we 4w g9 ) ey T A wed P

(1} 48 (2) 44 (3) 42 (4) 40

115. In an examination, a student scores 4 marks for every correct answer and loss
1 mark for every wrong answer. If he attempts all 75 questions and secures 123
marks, the number of questions he attempts correctly is :

L i B R 5 R T & faw 4wy & g rew IR B R
lmm%mﬁﬁmﬁ#wﬁﬁﬁﬂﬁmﬁaﬂ:ﬁwmﬁﬁlﬁﬂ
Tus e ot ool & oo Rar & 7

(1) 35 (2] 40 (3) 42 (4) 46

116.  After measuring 120 meters of a rope, it was discovered that the meter rod was
3 cm longer, The true length of the rope measures is -

(1) 16m.40em. (2) 121m. 20em.  (3) 123m. (4) 123 m. 60 cm.
lmiﬁmmﬁmﬁ%mwmﬁ:ﬁmf@aﬁuﬂmﬁ#ﬂaﬁﬁﬁ

T fimrd & 7
(1) 116 o 403 (2) 121 #to 20 2fte (3) 123 Flo (4) 1237 6037

117. 1f Ram, while selling two cows at the same price, takes a profit of 20%. On one
cow and suffers a lacs of 20% on the other cow, then :
(1) He makes no profit and no loss (2) He suffersa loss of 1%
(3) e makes prnﬁl:ul 1% (4) He suffers a loss of 2%
ﬁgwmmﬁﬁmwmﬂwmﬁmﬁzﬂ%mmﬁw?ﬂ
mﬂﬂiﬂ*‘uﬁﬂﬁﬁhg-fﬁ’ \

mqﬁwﬁﬁm#mwgﬁ (2) W 1% B B R
(1 - o &
o W 2 2 (4) T 2 T

will play every other player only
ﬂ*ﬁ‘ﬂmiﬂﬁ iﬁf&fﬁ“ﬁﬁfmgﬁmﬁmn player ont
once B 22y o Ryt 9wt RS o1 R B ¥ 8 1
i B Y e g e g @
ﬁﬁgﬁﬁd 15 (3) 30 & 36
 * (22)



118.

120.

121,

122

123.

124.

A vessel full of water weighs 40 kg If it is half filled, its weight is 30 kg, The
weight of the empty vessel is:

(1) 10kg. (@) 15kg. (3) 20kg. (4) 25 ke,

ol B R BT S W UR 40 Ber &) are = A RT o o owe 99 30

frett & | el @b &1 R qom & 2
(1) 10 frsh (2) 15 Rt (3) 20 Frah (4) 25 fret

The mean of 100 items was found to be 30. If at the e ol caleulation, hwo
itemns were wrongly taken as 32 and 12 instead of 23 and 11, the correct mcan
is -

100 SETH w1 39T 30 # | o T A ol @ 23 o 1] # wE 0 v 10
form w2, & wdt ofrem g

(1) 29. 4 (2) 295 (%) 29.8 (4) 29.9

The average of three numbers is 28, The first number is half of the second and
the third number is twice the second. The third number js ;

0 N & e 28 &1 vam wem R #1 amie & st o wen frdm #
(1) 18 {2) 24 (3) 34 (4) 48

A man covers half of his journey as 6 km /hr and o
His average speed is ¥ rand the remaining half at 3 kem /hr.

(1) 9km/hr (2) 45 km/hr (3) 4 km/hr 43 1
U AR T I a6 Al gfa el MY AT T %Eghr
M W T T | T} gt S Ha wer

(1) 9 fsd ofy e (o) 4510 i WI3) 4R TR ey @) 3
- uﬁr-
A man bought 5 shirts a1 Re. 450 each, 4 trousers at R, i -

shoes at Rs. 750 each. What i5 the avera i Mlea ch and RO

: £° expendjt " 40d 12 pajp,
(1) Rs. 1000 (2) Rs.0g (3 Rs. ﬂﬂum Peratite, P Of
T AT X 5 T TR 450 wo ¥ 4 T 750 & 4) Rs 6755

s # fRem A e e e mrm 2P T g :
(1) 1000 %o (2) 900 ﬁ:ﬂﬁ (3) 8§00 Fo T W 730 i

(4
If the sum of @ few numbers is 450 and their mean is 50 : 15;’&5'{! Fo

100 is included, the mean would become * Iraﬂmh{.

M@Wﬁﬁﬁmqﬁnaﬂqwmﬁﬁuhmﬂ * AU,

B @, B o dtwa g |

ﬂl'l 55 (2] &l {3.] L (4) ity ﬁ‘.lh
{23) '

TO



125.

126.

127.

128.

129.

in how many ways can a group of 5 men and 2 women be made out of a total of
7 men and 3 women ?

el T qeu e 3 ﬁmﬁ#ﬂswwzwﬁaﬁfﬁmﬁwmmm
27
(1) 63 () 45 (3) 126 (4) 90

Two dices are thrown simultaneously. The probability of obtaining a total score
offis:

?rmmqﬂqmﬂmtﬁmmmhsﬁmwmﬁaﬁﬁmﬁm?:

7
(1) % @ < ™ 5 @

How many days are there from 3rd February, 1989 to 9th June, 1989 ?
3 el 1980 7en 9 o, 1989 # & o fe B9 g7
(1) 14 {2) 130 (3) 152 (4) 127

The ratio between two numbers is 2 : 3. If the consequent is 24, the antecedent

1=

ﬁrﬁmmwmgqmz:ahmwaﬁmﬁzﬁ ﬁ’fﬁﬂﬁ‘lﬁﬂ"ﬂ:
(1) 36 (2) 16 (3) 48 (4)

1 mode of revocation of proposal 7

(1) Notice of revocation (2) Lapse of ime

{4) All of the above
fferor
& Dﬁm?; 2 Wi & SREE @ [ e g?
frefarad 2) W dw E
(4) o W

Which of the following is

hable as? crinThe _
An actis ?unﬁt'f‘ qniedby a 5u1l_t_v r_nmd. o
if it i5 20 - fry a nugu.; intention ar;:,lé knowledge
o115 acCOME T _ompanied by a guilty mi
@ !::\:L:if it 1'5“&?;“1341 by the act
) Lo Do o el ¢
&) ¢ wrh 9w e 3 fom o @

Wﬂmﬁm.mwmﬂﬁmwﬁ
) v R @ A o

o ampeRg e
3) grad 4

(4) & (24 )



SECTION =1l
s ~ |l
Either
English Language _
Note : Four alternatives are given as possible answers to each question. Give the
correct choice as an answer.

Question No. 131-134 : Select the word nearest in meaning to the groen words ;

131. Unabated :

(1) Unsympathetic (2) Unaltered
{(3) Unparalleled (#) Uncompromising
132. Reinforced :

(1) strengthened  (2) Reconstructed (3) Replaced (4) Restructured
133. Colossal

(1) evil (2} colourful (3) gigantic {4) atheleric
134. Diatribes:
(1) criticism (2} lengthy letter (3) exclusive club (4) ancient

Question No. 135-138 : Select the word opposite in meaning to the given words -
135. Lavish;

(1) grand (2) pennywise  (3) frugal (4) duy
136. Subvert :

(1) strengthen (2) create (3} conguer (4) escalate
137. Deliberately :

(1) unintentionally (2) reluctanty (3) wrongly (4) Notorio sly
138, Despise:

(1) detest (2) hate {3} relieve

(4) loye
Question No, 139-142 : Fill in the Banks wig, the correct word :

139. These elections will be remembereq as much for its Emtl'-ﬂ:umbe.h
farits“_,,_...........Il"lﬂl'ld'éll'E'. I:F mm‘d a5

(1) invincible (2) rational (3} unprecederte (4) d‘-“ffhe;ﬂf
(25) *
P10,



140. Leadership defines what the future should i i nedbsssssmcsepaapie

with that vision,

(1} aligns (2) develops (3) trains (4) transforms
141, Hundred rupees .................. too much for the job.

(1) seem (2} are seen {3) seems (4] is seeming

142.  Good boys do not quarrel with ..o«
(1) each other (2) oneanother  (3) another (4) other

Question No, 143-144 : Fill in the lanks with the correct preposition |

143. He was bom ............ humble parents.

(1) from (2) on (3) of (4) off
144. We will have to adjust ourselves ............ NEW circumstances.

(1) to (2) with (3) from (4) of

Question No, 145-146 : Select the option that best expresses the meaning of the following
relperrgs
445. To fight tooth and nail:

(1) making every possible effort to win

) to fight fiercely with great effort

(3 o ﬁghthumi.cuﬂy

() to fighta losing battle

146. Torise like a Phoernx . -
(1) Toresembie? Fheenician (2) To rise with anger
(3} To rise with a ne¥t life (4) To get up with start

. A, 147148 ¢ Select the word which can be substituted for the given group of
Question [V

twords :

17, A 51;.11-311“5'” that can have a double meaning :

14/, LL} ﬂ:hUEE’ (2) ambivalent (3) EP‘-EﬂPh (4) ﬂmbiguﬂus
. qiigent avd educated class

Themte'lhgtﬁ

e (2) aristocrate (3 educted @) intelligentsia

(26)



Question No. 149-150 : Identify the part having an error in the following senfences :

149. (1) The girl said (2) that she preferred
{3} the blue gown (4) than the black one.
150. (1) Thelonely traveller puzzled (2) when he discovered
(3) the print of a foot (4) on the sand.
SECTION -1l
wrg ~ ||
OR
EEE)
fe=lt s

e : E‘lﬁﬁf{ﬁﬂiﬁﬁ[ﬂ,m,ﬂlmﬂlmﬂ Y- 9T Swteaw were ey
i # =1 7o @ 58 8| oo =@ = 3 (L

151. g&fﬁﬁﬁmﬁmiﬁmmﬁ@n?
(1) o (2) o (3) 3wl (4) F=uff

152. aﬁaﬁﬁ,ﬁu—mﬁﬂmﬁﬁma?
() vt &= (2) off R (3) aftedt =i (4) Rerd fasdy

153, EEEE w9 i &

(1) sreeft (2) sregdh (3) A (4) g
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